

Calculer et donner le résultat sous la forme d'une fraction la plus simple possible :

$$F = \frac{2}{5} + \frac{11}{7} + \frac{7}{5} + \frac{6}{5} + \frac{2}{7} + \frac{1}{7} = \dots\dots\dots$$

$$R = \frac{5}{4} \times 8 \times \frac{7}{5} = \dots\dots\dots$$

$$A = 11 - \frac{5}{6} = \dots\dots\dots$$

$$C = \frac{11}{5} \times \frac{13}{7} \times \frac{1}{11} \times \frac{35}{26} \times \frac{4}{5} \times \frac{15}{2} = \dots\dots\dots$$

$$T = \left(\frac{5}{3} - \frac{1}{2}\right) \times \frac{6}{5} = \dots\dots\dots$$

$$I = \frac{5}{8} - \frac{3}{8} \times \frac{4}{3} = \dots\dots\dots$$

$$O = \frac{2}{3} \times \frac{3}{4} + \frac{9}{4} \times \frac{8}{12} = \dots\dots\dots$$

$$N = \frac{56}{7} - \frac{56}{8} = \dots\dots\dots$$